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CHAPTER 3

Metals and Non Metals

1 Which of the following metal has highest melting
pont?
(a) Copper (b) Silver
(¢) Sodinm (d) Tungsten
Aus ¢ (d) Tungsten
Tungsten has the highest melting point among the
metals

2. The composition of agua-rega 15
{a) DILHCI  Cone HNO; - 3

(b) Cone HC1 Dil HNOy - 3:1
(¢) Come HCI Come HNO, 3 1
(d) DiLHCI - DIl HNO, -
Ans : () Cone. HCL - Cone. HNO: =3
Cone. HCL and conc. HNO; in 3 ¢ | ratio form agua-
regin. Aquisregia is o highly corrosive. fuming liguid.
It can dissolve all metals even gold and platinum alkso.
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3 Food cons are coated with tin and not with zine
becanse
(1) zine is costlier than tin
(b) zme hos o higher melting point than tin
(¢) zinc is more reactive than tin,
(d) zine is less renctive than tin
Ans : (¢) zinc is more teactive than tin,
4 An eclement reacts with oxygen lo give a

compound
with a high melting point This compound is saluble
in water. The element 15 hkely to be-

(a) calenm {b) corbon
(c) silicon (d) on
Ans : (8) caleium
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2Ca + 0y — CaO (iome componnd)
Ca0 + H,0 — Ca(OH),

Which of the following ie a characteristic of metals?
(a) They have one to three valenee cectrons

(b) They have 4 to 8 valence electiuns

(¢) They sic battle

(d) They are capable o form anions easily

Anz : (a) They have one to three valence electrons
Metal can easily given np their electrons and formn

electropositive wns. They have one to three valence
clectrons. They are not brittle and do not fonn anions

A renctive metal (M) is treated with HaSO(dil). The
gas is evolved and is collected over the water as shown
in the Hgure

The correct comelasion drawn isfare

(a) the gas s hydrogen

(b) the gas i lighter than air

(e} the gas s SO; and s lighter than ar

{d) Both {a) and (b)

Ans : (d) Bath (a) and (b)

When sny renctive metal (M) reacts with the acid
HaSOy(dil), it evolves hydrogen gas (Ha) Lt is lighter

than aur.
M(3) + HiSOy(dil ) ——» M-sulphate +H,(g)
An slloy is
() an element
(b) & compound
fc) & homogeneous mxture
(d) & helerogeneons mixture
Ans : (¢) a homogeneous mixtuie
An allay is & homogeneous mixtove of different metals
or a metal and a non-metal.
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When non filings ave heated im asteamn of dry hydrogen
chloride, the compound formed i FeCl, where 2 is-

(a) L () 2
(c) 3 (d) 1
Ans: (b) 2

Silver articles become black on prolonged exposure to
air. This is due ta the formation of

(a) AgsN (b) AgaO
() AgsS (d) AgsS and Ag:N
Ans s (¢) AgsS

Sitver aricle becoane black becanse silver reacts with
H4S gas present in aix to fonn black coating of Ag.S.
The reaction is
A HS —
a8+ Nt 2-8-’8"-’{'

i e ndphide

Tdaek)

The hest malleable metal s
(a) aluminium
(c) gold
Ans : (¢) gold

(b) silver
{d) lead

Which of the following only contam non-metals?

(n) Curbohydrates (b) Proteins

(¢) Alloys (d) Both (a) and (b)
Ans ¢ (d) Both (g) and (b)

Carbohydrates comtaim carbon (C), hydrogen (H)
and oxygen {Q) ns their components, while proteins
contain carhon (), nitrogen (N), hydiogen (H) and
oxygen (O) but alloys are mixture of metals and may
be some non-metals Hence, option (d) i the correct
answer.

Which of the fallowing is not a property of non-metals?

(n) They wre neither malleable nor ductile

(b) They are brittle

(c) They are sonorous

(d) They are poor conductor of hear and electneity
(except graphite)

Ans t (o) They are sonorous

Almost all the nor-metals produce no metallio sound

on itting Thus. they are not sonorous.

Which of the following metal will not give Ha(z) with
H,0?

(b) Mg(s) +2H0 —
() Zn(s)+HsO — (d) Cn+HyO —

Ans : {d) Cu+H,0 —>

Metals placed below the hydrogen in reactivity series,
will not give Hi(g) with water (H.O). Decreasing
order of yeactivity of metals is

Na>Mg>Zn>Cn

Metals are refined by using different methods. Which
of the following metals are refined by electrolytic

refining”

1 Au 2. Cun

3. Na {4 'K

(n) 1 and 2 (b) 1 and 3

15

(¢) 2and 3

Ans : () 1 and 2
Electrolytic refimmg 15 wsed o metuls like Cu, Zn,
Ag, Au eto

The method to be used for refining an impore
metal depends on the nature of the metal as well as
on the nature of impurities present in it

() 2 and 4

Beakers A, B and € contain zine sulphate, silver
nitrate and iron (I1) sulphate solntions respectively
will appear in case of
(a) beaker A

(¢) beaker €'

Ans : (b) benker B

Copper 15 more renctive than silver thus, displaces
silver from its salt solution

{b) beaker B
(d) ell the benkers

Galvanisation is a method of protecting won from
rusting by conting it with a thin layver of

(o) gallinm (b) alurinium

(¢) =ne (d) silver

Ans (o) zine

Galvanisation 15 o method of protecting iron from
msting by conting it with a thin layer of zine (Zn)
metal

1

2
Jd
4
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1.

Alumininm does not oxidise readily in su becnuse-

(a) 1t s high m the electrochemicsl series

(b} it is low in the electrochemical series

(¢) the metal does not cambine with axygen

(d) the metal i covered with & layer of oade which
does not yub off

Ans : (d) the mets] 12 coverded with a layer of oxide
which does not 1ub off

In each test tubes A, 8, C and D, 2mlL of solution of
Al(SO)s in water was fillad. Clean picces of zine was
placed in test tube A, clean iron nmil was put i test
tube B, silver (Ag) was placed i test tube ' and a
clean copper wite was placed in test tube D

Which of the following option (&) is/ave correct about.
above experument”

(8) Zinc & mote reactive than shiminim

(b) Copper is more resctive than alnminium

(¢} Zinc i more reactive than copper
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Chap 3 ° Metals and Non Metals
(d) Zime, iron, silver and copper are less réactive than
almnmmm
Ans : (d) Zinc iron, silver and copper are less reactive
than alumininm

A.I,(SO‘), +Zn
(A)

AL(SO,), + Fe
]

AL(SO,), + Ag
(8]

AL(SO,), + Cu
(D)

n, Fe Ag and Cun are less resctive than sluminim.
Alummniun resides at the top of the activity series.
While Zn. Fe, Ag and Cu lies below alumminm m
the activity series. Thus, being less reactive than
aluminiom, they connot deplace Al fom s salt
solution Lo AlL(SOy); solution

18. On the basis of the sequence of the given reactions
wdentify the most and Jeast veactive elements:

X+YA —XA+Y )

X+YB  ~XB+Y A2
Z+ XA 2 ZA+X (3)
(a) X and 7 (b) ¥ and 2
(c) Zand X (d) Z and ¥

Ans:(d) Z and YV

‘Z" s the more reactive element and ¥ s the least

reactive element Z easily displaces X while X easily

dsplaces Y

20. A mwetal M has electronic configuration 2, 8 3 and

ocemrs in enrth’s crust and its oxide M5 It s more

reactive than zine. Which of the killowing options (s)

15/ ure correct?

(n) The metal AT is iron

{h) The metal M is lead

(¢) The ore form which metal M is extracted in
haeinatite.

(d) The ore form which wetal M & extivcted is
bauxite

Aus 1 (d) The ore form which metal M is extracted

1% bauxite

Electronie configuration of M= 2.8 1

Dawniload all GUIDE ana sample Paper pais from
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Hence, the onter orbital consist of 3 electrons, It
more reactive than zine. So, it should be aluminium
(atomic number = 13). The ore from which metal M
iz extracted is banxite

Metal M reacts with oxvgen to form metallic oxide
MO, This oxide reacts with moisture and carbon
diaxide of the atmesphere to form o basic carbonate
metal M. The metal * M 15

(a) Cu (b) Fe
(c) Zn (d) Cr
Ans : (a) Cu

Since, the metal forms an oxide MO, the metal is
divelent. Since it forms o bosic carbonate when
exposed to mosture and carbon dioxide, thevefore it
must be copper.

200 + 004 Os+ H, O

* CuC0y - Cu(OH),
Baas (coppms cms tinate)

Frin mown. wr
. Which of the following methods = suiteble for

preventng an iron frying pan from rusting”
{n) wpplying grease

(b) applying paint

(¢) applying a coating of zinc

() all of the above.

Ans @ () applving a canting of zinc

A student mistakenly usad o wet gas jar to collect
sulphur dioxide. Which ane of the following tests of
the gos 15 hikely to fail?

{a) Odour

(b) Effect om acidified K.CraOs sohution

(¢) Solubility test

{d) None of these

Ans : (d) Nome of these

A student puts one big wron nail each m four test
inbes containig solutions of zine snlphate, alumininm
sulphate, copper sulphate and ron sulphate. A reddish
brown coating was observed only on the surface of
won ngil which was put in the solution of

(a) zine snlphate (b) iron sulphate

(¢} copper sulphate (d) sluminiure sulphate
Ans 1 (e) copper salphate

Fe displaces copper from copper sulphate (CuSOy)
solation
CuSO + Fe — FaSO, + Cnm

Which of the following is not a charactenstics of
metal?

{n) Malleable

(b) Electro-positive nature

{¢) Ductile

(d) None of these

Ans : (d) None of these

All ure charactenstics of metal

Which of teh following reactions not accur?
(n) 2AgNO;(aq) + Zule) — Zn(NO;)s(ag) + 2Ag(s)
(b) CuSOu{ag) +Zuls) —— ZnSO(ag) + Culs)
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(c) 2AgNO;(ag) + Fa(s) — Fe(NOy)a(aq) + 2Az(s)
(d) CuSO4(nq) + 2Ag(s) — Culs) + Ag:S04(aq)

Ans : (d) CuSO4(aq) + 2Ag(e) — Cule) + AgsSO,(aq)
Silver is less veactive than copper, hence cannot

displace copper from its salt solation.
Pure gold 1s-

(n) 24 carats (b) 22 caars
(¢) 20 carats (d) 18 carats
Aus : (a) 24 carats

When a metal 15 added to dilute HCl solution, thee s
no ovolution of gas Metal is-

(a) K {b) Na
(c) Ag (d) Zn
Ans: (¢) Ag

Ag is below hydrogen in reactivity senes.

The correct order of incrensing chennes] reactivity is-
(a) Zn<Fe-Mg<K (b) Fec-Mg-Zn- K

(¢) Fe=Mg<K-<Zn (d) Fa-Zn-Mg-K

Ans : (d) FecZn-Mg< K

The metal that rescts with cold water is-
(a) mercury (b) sodmm

(c) zine (d) tungsten
Ang : (b) =sodinm

Froth floatation method ie usad for the concentration

of
(a) oxicde oves (b) sulphide ores
(¢) enlphate ors {d) halide ores

Ans : (b) sulphide ores

Heating of concentrated ore in absemoe of air for
conversion into oxide ore i known as-

(a) roasting (L) calemution

() reduction (d) none of these

Ans ; (b) calemation

Caleination involves heating of the ore below s of
the ore below its fusion temperature i shsence of air.

Remaoval of impurities from ore i known as-

(a) crushing and grinding  (b) concentration of ore
(¢) ealemation {d) ronsting

Ans ¢ (b) concentration of oe

The only metal that 15 hquid st room temperature is-
(a) metcury (b) sodmm
() zine (d) tungsten

Ans : (&) mercury

Zn + HyO(Stweam) —— A + B, In the equation A and
B are-

(a) Zn, H only
(¢) ZnH; and Oy

Ans : (d) ZnO & H,

(b) ZIIH:r wud 01
(d) ZnO & H,

et e Ml — 8~

. Hydrogen gos 15 not widely used as a reducing agent

becanse

(n) hvdrogen decomposes to atomie hydrogen at
higher tewiperature

(h) risk of explosion with water

(¢) hydrogen isomeriges to orthe hydrogen at higher
tempernture

(d) many metals form bydrides ot Jower temperutures

Ans : (b) risk of explosion with water

Hydrogen reacts with exygen to form water and the
reaction tukes place with explosion.

L Alloys wre homogencous muxtuwres of a metal with s

wetal or non-metal. Which among the following allovs
contain non-metal as one of its constituents?

(n) Bross (b) Bronze
(o) Amalgan () Stewl
Ans : (d) Steel

Steel alloy contain non-metal as one of its constituent
It contains 90.95% of iron and 0.05% of carbon

. Silicon is used n
(a) solax energy devices (b) semiconductors
(e) transistors (d) all of these

Ans : (d) all of these

E s an element that's ore is rich m £,03+ F.O3 s
not affected by water [t forms two chlondes, ECL;
and ECly. The element £ is

(a) copper (b) zine
(¢) aluminium (d) won
Ans ¢ (d) fron

The element £ 15 won (Fe). Smee the metal £ forns
an oxide of formula £,05. Therefore, the valency of
the metal is three ie. metal 15 ttivalent Out of metals
listed. omly Al and Fe are trivalent Since, the F0,
is nat affected by water, £ may be either sluomunmm
or iron. Simee it forms two chloddes, £, and BCI,
therefore, metal £ mmst be iron, since it shows a
vurible valeney of 2 and 3. Hence, it forms iron (I1)
chlovide, FaCls and iron (111) chloride, FeCl;.

What is anode mnd”

(a) fan of anode

(b) metal of anode

{c) mpurities collected at anode m oloctrolyses during
purification of metals

{ch) all of these

Ans ¢ (¢} impurities collected at anode in electrolysis

during purification of metals

Which of the following pairs will give displacement
renctions?

(1) ZnSO, somtion and Aluminium metal

(h) MgCly Solution and slumininm metal

() FeSO, solution and silver metal

(d) AgNO; solution and copper metal.

Ans : (d) AgNO; solntion and copper metal

Copper s more ractive than silver hence displaces
Page 19
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silver from silver nitrate solution

Metals combine with oxygen o form ... oxades.
Ans : Basic

On hanmering change of metal into thin sheets, i
called ..

Ans : Melleability

A list of commen metals amanged m order of their
decrensing reactivity 15 known as an .. ...
Ans @ Activity series

Metals are ... conductors of heat and electuicaty.
Non-mwetals are generslly
Ans : good, insulators

Meotals above hydrogen in the Activity series can
displace .......... from dilute acids.

Ans : Hydrogen

The main ove of copperis ...
Ans : Copper pyrites

The extraction of metals from then ores and then
rofining themn for use is known as

Ans : Metallnrgy.

An alloy is a . . mixture of two or more metals,
or a metal and a non-metal

Ans : Homogeneons

The surface of =one metals, such as iron, is corroded

when they are exposed to moist wir fur a long penod
of time. This phencmenon is known as .

Ans : Corvosion.

Metal oxides which react with hoth acids as well as
bases to produce salt and water we cnlled .
Ans @ amphoteric

The best comductors of electricity are copper and
Ans : Silver

Most metals have . melting points

Ans : High

Formula of rust is
Ans : Fey0y ¢ 2H,0

A pon-roetal, which is lignid at non temperature is

suatdl and Sample Paper pdls from
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reactive metal displaces a
metal from its salt solution

Ans : more, less

Bramze s an alloy of copper and
Ans : Tin

Unwanted material with are is called as
Ans : Gangue

Solder is an alloy of
Ans : Tin, lead

and

In electrolytic refining. impure metal = nsed ae
Ans : Anode

The method aof removing volatile matter from
carbonate ores is known as

Ans : Calcmation

Most metal oxides sre . o nature whereas non-
metal oxides are . or

Ans : basic, acidic, neutral

. An example of a metal which can be ent with a knife

T civenvins

Ans : Sodium

Manganese and ......... resct with very dilute nitric
acid to evalve hvdrogen gas

Ans : Magnesinm

Froth floatation process is nsed for the concentration
of . Ores.

Ans : Sulphide

1L 57 RO
Ans : non-metal

15 a metal used for galvanising
Ans : Zine

An allay of any metal with mercury is called
and the electrical conductivity of an allay s
than that of pure maotals

Ans : Amalgam, less

AlOy and Zn0O are
Ans : amphoteric

Ans : Iron, chromium, carbon

> e e
3.7 e

1

Reaction 15 done for sulphide arens
Ans ; Thue
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2. Alwminium is the mest abundant metal in the earth’s
ornst
Ans : True

3. Reaction takes place in slnminothermic process is also
known as thermite reaction
Ans : True

4  Metals can form peositive jons by losing elections to
non-metals
Ans : True

8.  Mercury and zine are purified by hguation method
Ans : False

6. The presence of carbon in pig iwon makes it very soft
and malleable.
Ans : False

1. Different metals have same reactivities with water and
dilnte acids.
Auns : False

8. A more renctive metal displaces a less reactive metal
from its salt solution
Ans : Tiae

8. Metaks occur in nature only as free elements.
Ans : False

10, Non-metals have properties similar to that of metaly
Ans : False

M. Hydrogen is the most abundant element in the
universe
Ans : Faolse

12. Non-metals are good conductors of heat  and
clectbowity.
Aus : Palse

13. Nowrwetals are electronegative elements s they form
negative fone by gaiming electrons
Ans : True

W. Galliim and Cesium metals have low melting pomts.
Ansz : True

1. Copper reacts with dilute sulphunic acd to form
copper sulphate and hydrogen gas.
Ans : False

16. Aquu-tegia can dissolve gold
Aus : True

1. Silva wetal displaces copper from copper nitrate
salution to form silver nitrate and copper metal.
Ans : Tiue
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lomic compounds are formed by transfer of electrons
from a metal atom to a non-metal atom.

Ansg : True

Flectrovalent compounds can conduct electricity in
solid state as they have jons
Ans : Tme

Alumininm oxide can be veduced to alumininm, nsing
carbon (coke) as o reducing agent.
Ans @ True

In electrolytic refining of copper, pure copper is taken
ax anode.

Ans : False

Solder is an alloy of lead and tin
Ans : Tme

{ron does not mst in batled distilled water.
Ans : False

Sodium, magnesimin and calcium are obtamed by
electrolysis of their molten chlorides

Ans : True

. Lend, copper and silver cannot react with water at all
Ans : True

DIRECTION : Each question contains statements given in
wwa columns which have to be matched. Stawments (A, B, C,
12) in colunm-1 have to be matched with statements (p, o, 1, 5)

i column 11,
L
Colunmm 1 Colonm 11
(A) |CaO (p) | Amphoteric axide
(B) | ALLO, {q) | Nentral oxide
(C) |50, (r) | Basic oxide
(D) | H,0 (s) | Acidic oxde
Ang : A-r, B-p, C-s, D-gq
5
Coluun 1 Colmn 11
(A} | lodine (p} | liguid metal
(B) | Diamond (q) | liguid non-metsl
(C) | Merewry (1) | lustrons
(D) | Bromine (s) | hardest substance

Ans : A, B-s, Up, Dogq
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Columm | Caluran 11
(A) | Good vonductor of | (p) | Hydvogen
Electricity
(B) | Food preservative | (q) | Copper
() | Allotrope of (1) | Nitrogen
carbon
(D) | Manufacture of (s) | Graphite
Mmoo
A B (8 D
(n) " st | ar | g
(b) P - a
() q s T p
(d) q 8 T s Lp
Ans: (d) Aq,s Br Cs Dr, p
4
Colwmom [ Calumn 11
(A) | Stert () | Copper
(B) | Brass (q) | Zine
(C) | Bronze (v) |Iron
(D) | Mogunlinm (=) | Aluminium
B [¢] D
(u) » s a.r q.r
(h) v P, q p =
(e} q & p T
(d) ¥ q r P
Aus: (b) Ar, B-p, q, Cp, D5
S
Coluon 1 Colunn 11
Ore Elements
(A) | Chalcopynite (p) | Copper
(B) | Cuprite {q) |fron
(C) | Magnetite (r) | Sulphur
(D) | Chalcocite (s) | Oxygen
A B © D
(a) P9 D s a8 pr
(b) P a s p.r
(<) ' s P 4
(d) 8 u r v

Ans: (a) A-p. q.r, Bp s Cq, 5 Dp, v
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DIRECTION : In the following questions, a statement of
assertion (A) is followed by a statement of reason (R). Mark
the correct chowe as:

(a) Both assertion (A) amd reason (R) are true and
reason (R) s the correct explanation of assertion
(A)

(b) Both assertion (A) and reasan (R) are true but
reason (R) is not the correct explanation of
assertion (A)

(c) Assertion (A) is true but reason (R) is falee

() Assertion (A) 1s false but reason (R) is true.

(e} Both Assertion and Reason ave false.

Assortion : Different metals have different reactivities
with water and dilute newds.

Reason : Hesotivity of a metal depends on its position
m the reactivity series.

Ans : (a) Both sssertion (A) and reason (B) are true
and resson (R) is the corvect explanntion of sssertion
(A).

The metals placed st the top of the senes are most
reactive

Assertion : When zine is added 1o a solution of iron
(1) sulphate. no chunge s observed.
Reason : Zinc is less veactive than iron
Ans : (d) Assertion (A) Is false but rosson (R) is true.
Both Assertion and Reason we false, Zinc beng
more reactive than iron displaces iron from iron (11)
snlphate solution.

Thus, the green colour of the solution fades and
won metal gets deposited.

Zn(s) + FeSO4(aq) — ZnSO4(aq) +  Fe(s)
£ G b I

Assertion : Gas bubbles are observed when sodinm
oarbonate is added to dilute hydrochlone sad
Reasan : Carbon dioxide ig gven off in the reaction.
Anz : (a) Both assertion (A) and reason (R) are true
and yeasom (R) 1 the correct explonation of assertion
(A).

Gas bubbles are ohserved when sodinm earbonate
is added to dilute hydrochlorie acid as (O, pas is
released.

Assertion : Food cans mre coated with tin and not
with zine

Reasan : Zine iz mare reactive than tin

Ans : (a) Both assertion (A) and resson (R) are true
and reason (R) is the correct explanation of assertion
(A)

Food cans are coated with tin not with zme becouse
zime & more reactice than tin, it can react with organic
acids present m food.

Assertion : Platinum. gold and silver are nsed to make
Reason : Platimum, gold and silver are least veactive
metals.

Ans : (o) Both assertion (A) ond reasson (R) are true
and reason (K) 1= the correct explanation of assertion
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Platimun, gold and silver are highly malleable histraus
and least reactive, i.c noble metals, so they are not
corvoded by air and water ecasily.

Assertion : Iron s found m the free state n natore
Reason : Ivon a highly reactive element.

Ans : (d) Assertion (A) s false but reason (R) is trae,

Assertion : Carbon reacts with oxygen to form carbon
dioxide which is an acidic oxide

Reason : Non-metals fonm acidic oxides.

Ans : (1) Both assertion {A) and reason (R) are tre
and renson (R) is the correot explanstion of sssertion
(A)

Corbon being s non-metal fone ackdic oxides, e,
their agqueous =olution tums blue litins solution red.

Assertion : Metals are sonorons.

Reason : They se generally brittle s the solid state;
they hreak into pieces when hammered.

Ans : (¢) Assertion (A) i= true bot reason (R) 1= false.
Metaks wre somorons and hard, while non-metals axe
brittle.

Assertion : Coke o ad tins e od in smelting.
Reason : The phenomenon m which ore i mixed with
suitable flox and coke is heated ta fusion s known as
smelting.

Ans : (b) Both assertion (A) and remson (R) me
true but reason (H) is not the corvect explanation of
assevtion (A)

Smelting is a process of applying heat ta ave in arder
to extract a base metal It 15 used to extract wmany

metals from their ores, including silver, iron, copper.
and other base metals.

Assertion : Leaching 15 a process of reduction

Reason : Leaching imvolves treatment of the ore
with o suitable reagent so as Lo 1ake it solube while
Ans : (d) Assertion (A) 18 false but reason (R) s true.

Assertion : Lead tin and bsmuth are punfied by
higquation method.

Reason : Lead, tin and bimmuth have low m.p as
compared W nnpuritics.

Ans : (o) Both ussertion (A) and reasom (R) aro troe
and reasom (R} 1= the correct explanstion of assertion
(A).

Assertion : Leaching 15 n process of reduction
Reasomn : Leaching involves treatment of the ove with
u snitable veagent 30 as o make it soluble while
unpuritics reroains insoluble.

Ans @ (d) Assertion (A) is false but reason (R) i true
Leaching is a process where ore 1s soluble and unpurities
are insoluble, widely used extractive metalluvgy
rochmique which converts metals mto soluble salts
agueous media

Assertion : Levigation s used for the separation of

oxicle ores from impurities.

Reason : Ore particks are vemoved by washing m o
current of water

Ans : () Assertion (A) 15 true but reuson (R) s fulse.
Levigation method is commonly used for oxide ores
such as heematite. tin stone and native ores of Au,
Ag, ete

Assertion : Zimc is used in the galvanisation of iron.

Reason : lis coating on iron articles increases their life

by protecting them from rusting

Ans @ (a) Bath assertion (A) and veasom (R) are true

?.nd reason (R) 15 the corract explanation of assertion
A)

Assertion (A) : When a piece of capper metal is added
1o dilute sulphuric acd, the sohition turns bhue.
Reason (R) : Copper rencts with dilute sulphbune acid
to farm copper (1) sulphate solution

Ans : (a) Both sssertion (A) and resson (R) we true
and reasan (R} is the corvect explanation of assertion
(A)

When & piece of copper metal is added to dilute
sulphuric acid, the soltion tums bine It s becasne.
copper reaots with dilute sulphuvic seid to form blue
copper {11) salphate solation.

Assertion : Froth floatation pocess i based on the
different wetting neture of ore and gangue particles.
Reasaon : Mustard il i used as frother in froth floation
process,

Ans: (b) Both wssertion (A) and reason (R) me
true but reason (R) is not the correct explanation of
assertion (A).

Assertion : Zinc becomes dull in most mr
Reason : Zine is coated by a thin film of its basic
carbonsate m moist wr.

Ans : (a) Both assertion (A) and reason (R) are true
and renson (IR) is the correct explanation of sssertion
(A).

Aszertion : Hronze t an alloy of lead and tn
Reason : Alloys are heterogeneons mixture of metals
with other metals and non-metals

Ans: (¢) Assertion (A) s tme but reason (R) 15 false.

Assertion : A mineral is called ore, when metal s
extracted from it conveniently and econorpically.
Reason : All ores are minerals but all minerals are
not ores.

Ans : (b) Both sssertion (A) sand reason (R) e
true but reason (R) is not the correct explanation of
assertion (A)

Minerals are naturally occurring chemical substance
in the earth's crust obtaned by munmg. But s suneral
is collad an ore only when the metal can be extracted
from it conventently and econamically. Thus, sll ore
minerals but all minerads are not. ores

20. Assertion : In nlumino thennite procoss, the metals
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like iron melts due to the heat evoloved in the reaction
Reasont : The renction is

FeyOg =+ 281 — Al + 2Fe

Ans : (a) Both assertion (A) and reason (R) are true
mx)i reason (R) is the correct explanation of ussertion
(A).

Large amount of heat is evolved which melts iron and
can be used for weldmg.

2. Assertion : Zine oxide amphoteric in nature
Reason 1 Zine oxide reacts with both acids and bases.
Ans ¢ (0) Both assertion (A) and weason (R) s tiue
and reason (R) 18 the carrect explanation of assertion
(A).

22, Assertion : Zine can cusily displace Copper on reactmg
with a =alution of copper sulphate.
Reason : Copper s more reactive metal as compared
to Zine

Ans : (o) Assertion (A) is true but reason (R) is false.

23. Assertion : Magmesinm chloride is an ionic compound.
Reason : Metals and non-metals react by mutnal
transfer of electrons
Ans : (a) Both sssertion (A) and reasen (R) are troe
and reason (R) i the correct explanation of assertion
(A).

4. Assertion : Gold is isolated Fromn other impurities by
Arndt forest cyanide process.
Reason : The cvamde which is used here dissolve all
possible impurities.
Ans : (¢) Assertion (A) 1s true but reason (R) is false.
The cyanide dissolves gold by forming a complex.

23. Assertion : In the metallurgy of Al punfied ALO; s
mixed with NagAlF, or Cak,
Reasun : It lowers the melting pomnt of the mixture
and hrings condnetivity
Ans : (a) Bath assertiom (A) and reason (R) are time
and resson (R) 15 the correct explanation of sssertion
(A)
In the metallurgy of alwmmiun, purified ALO, &
mixed with NasAlF; or CaFs which lowers the melting
point of the mix and brings conductivity.

26. Assertion : Zine carbonate is heated strongly in
presence of air to form zine oxide and carbon dioxide
Reason : Caleination i the process in which a
carbonate ore = heated strongly in the sbsence of air
to convert into metal oxide
Ans : (d) Assertion (A) is false but eason (R) is true.

21. Assertion : Irom pyrite is not useful in the extraction
of Fe
Reason : SO, pollntng ges is prodocsd during
extraction
Ans : (a) Both assertion (A) and reason (R) are tine
and resson (R) is the correct explanation of assertion
(A).
Pyrite is composed of iwon and sulphur. The sulphur
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comrent, during extraction may contarminste the metal
und reduces the strength.

28. Assertion : Usually the sulphide ore is converted to
oxide before reduction
Reason : Reduction of oxides acomns easier
Aus : (n) Both assertion (A) and reason (R) are true
and reason (H) is the correct explanation of assertion
(A).
Usnally the sulphide ore is converted to oxide hefore
reduction as oxides me easier to rednee

9. Assertion : While the extraction of copper, one of the
steps mvolved
Reason ¢ In this reaction Cu,S is the reducing agent
whereas UnyO is the oxidising agent

Ans : (¢) Assertion (A) is true but reason (R) is false

The Cu’" ion in both the compounds gets reduced
while sulphur gets oxidised.
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